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Problem Set Seminar — July 2013

3. Total synthesis of (±)-α-cedrene by P. Wender (1981) P.A. Wender, JACS 1981, 103, 688.
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4. Total synthesis of (±)-α-cedrene,  (±)-α-pipitzol and sec-cedrenol by R.R.Pettus (2011) R.R. Pettus, JACS 2011, 133, 1603.
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What is the major side product of B?

1. Total synthesis of alkaloid (–)-205B (Micalizio, 2012) G.C. Micalizio, JACS 2012, 134, 15237.
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competitive process?
(does not occur in this case)

1. LAH, THF
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5. Synthesis of the tropoloisoquinoline alkaloid pareitropone. K.S. Feldman, JACS 2002, 124, 11600.
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2. Total Synthesis of (±)-Incarviditone and (±)-Incarvilleatone. A. L. Lawrence, Org. Lett. 2012, 14, 4537.
Y. Tang, Org. Lett. 2012, 14, 4878.
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2. PhI(OAc)2
3. TBAF

or

Oxone, NaHCO3 , H2O, 
then Na2S2O3

52%

20%

(±)-rengyolone

NaH, DCM,
rt., 12 h

O

OH

OH

O

O

OH

H

(±)-incarvilleatone (23 %)
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structure becomes clear when you assign the
mechanism for the formation of (±)-incarvilleatone

whole group

Christian, Seb

Ruben

Magnus, Philipp

Seb, Philipp



O

OAc

OAc

OMe

O

O

Ph NBS, BaCO3

CCl4, reflux
A

1. NaI, acetone, ∆
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A. You finished the tasks and there is still some time left? Go on, here is an additional one. Can you cope with acetals? Name reactions? K.-I. Sato, Chem. Lett. 1994, 23, 37.


